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QUIZ

Who expresses the views below, Sadiq Khan (SK) or Zac Goldsmith (ZG)? It 
may sometimes be both of them. 

1. London has a severe housing problem.
 ❑ SK ❑ ZG

2. The government is making the problem worse.
 ❑ SK ❑ ZG

3. London’s mayor should have more power.
 ❑ SK ❑ ZG

4.  London does not keep enough of the money it raises in taxes.
 ❑ SK ❑ ZG

5. Air pollution in London must be dealt with.
 ❑ SK ❑ ZG

6. Cycling should be safer.
 ❑ SK ❑ ZG

7. Road pricing is essential for some projects.
 ❑ SK ❑ ZG

Answers : 1. SK/ZG - 2. SK - 3. SK - 4. ZG - 5. SK - 6. SK - . ZG.


